JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trac Typ	
8:35:07	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5755		(1,657,550.00) Merr	nber Sell
8:35:07	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1.000	100	100,000	16.5755		(1,657,550.00) Mem	
8:35:42	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5755		1,657,550.00 Clier	
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.7800		16,780.00 Mem	
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	16.7800		(50,340.00) Clier	
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	16.7800		50,340.00 Mem	
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.7800		16,780.00 Mem	
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.7800		(16,780.00) Clier	nt Sell
8:43:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.7800		(16,780.00) Clier	nt Sell
8:51:56	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7325		8,366,250.00 Mem	nber Buy
8:51:56	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.7325		16,732,500.00 Mem	nber Buy
8:55:41	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7275		8,363,750.00 Mem	nber Buy
8:55:41	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7275		(8,363,750.00) Clier	nt Sell
9:00:03	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	14	14,000	17.0281		(238,393.40) Clier	nt Sell
9:00:03	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	14	14,000	17.0281		238,393.40 Mem	nber Buy
9:00:03	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7385		167,385.00 Mem	nber Buy
9:00:03	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	2,483	2,483,000	16.6940		(41,451,202.00) Mem	nber Sell
9:00:09	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.6130		16,613,000.00 Mem	nber Buy

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 15/01/2016

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
			. ut		induot	Value			11100	1,100	
9:25:55	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7049	83,524.50 Client	Buy
9:25:55	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7049	(83,524.50) Member	Sell
9:33:02	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5755	1,657,550.00 Client	Buy
9:33:02	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5755	(1,657,550.00) Member	Sell
9:34:03	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5755	1,657,550.00 Client	Buy
9:58:08	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.6950	83,475.00 Client	Buy
9:58:08	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.6950	(83,475.00) Member	Sell
9:58:45	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	2,483	2,483,000	16.6940	41,451,202.00 Client	Buy
10:02:21	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7000	167,000.00 Client	Buy
10:10:51	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	661	661,000	16.7200	11,051,920.00 Member	Buy
10:10:51	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	661	661,000	16.7200	(11,051,920.00) Client	Sell
10:17:19	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	17.0155	8,507,750.00 Member	Buy
10:17:19	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	17.0155	(8,507,750.00) Member	Sell
10:17:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	17.3417	5,202,510.00 Member	Buy
10:17:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	17.3417	(5,202,510.00) Member	Sell
10:17:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	17.3362	3,467,240.00 Member	Buy
10:17:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	17.3362	(3,467,240.00) Member	Sell
10:21:31	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0157	(6,806,280.00) Member	Sell
10:21:31	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0157	6,806,280.00 Member	Buy
10:22:07	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	13	13,000	16.7342	217,544.60 Member	Buy
10:23:59	\$ / R 05/04/2016	Any day expiry	С	16.79	1	1,000	5,000	5,000,000	660.4900	(3,302,450,000.00) Member	Sell
10:24:12	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7150	8,357,500.00 Member	Buy
10:24:12	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	16.7362	(50,208,600.00) Member	Sell
10:25:20	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7275	8,363,750.00 Member	Buy
10:25:26	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7320	83,660.00 Member	Buy
10:25:30	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7344	8,367,200.00 Member	Buy
10:25:30	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7344	(8,367,200.00) Member	Sell
10:26:04	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	13	13,000	16.7342	(217,544.60) Client	Sell
10:27:21	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7300	8,365,000.00 Member	Buy
10:30:14	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.7500	8,375,000.00 Member	Buy
10:32:12	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	17.0513	136,410.40 Member	Buy
10:32:12	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	17.0513	(136,410.40) Client	Sell
10:32:36	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	16.8238	(50,471.40) Client	Sell
10:32:49	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.5130	1,651,300.00 Member	Buy
10:32:49	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.7105	(16,710,500.00) Client	Sell
10:33:05	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.6149	(16,614,900.00) Client	Sell
10:33:05	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.6325	1,663,250.00 Member	Buy
10:34:12	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	496	496,000	16.7700	8,317,920.00 Member	Buy
10:35:21	\$ / R 15/04/2016	Any day expiry		0.00	1	1,000	95	95,000	16.8903	1,604,578.50 Client	Buy
10:35:21	\$ / R 15/04/2016	Any day expiry		0.00	1	1,000	95	95,000	16.8903	(1,604,578.50) Member	Sell
10:35:54	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7770	(1,004,378.50) Member (83,885.00) Member	Sell
10:35:54	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7770	83,885.00 Client	Buy
10.00.04	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7720	83,860.00 Client	Buy Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:59:33	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7720		(83,860.00) Client	Sell
10:59:36	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7800		(83,900.00) Client	Sell
10:59:36	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7800		83,900.00 Member	Buy
11:05:21	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	12,000	12,000,000	17.0362		204,434,400.00 Member	Buy
11:06:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	75	75,000	16.7865		1,258,987.50 Member	Buy
11:06:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	75	75,000	16.7865		(1,258,987.50) Client	Sell
11:08:40	\$ / R 05/04/2016	Any day expiry	С	16.79	1	1,000	5,000	5,000,000	655.4900		(3,277,450,000.00) Member	Sell
11:09:13	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7852		(167,852.00) Member	Sell
11:09:13	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7852		167,852.00 Client	Buy
11:12:11	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7902		(1,679,020.00) Member	Sell
11:12:11	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7902		1,679,020.00 Client	Buy
11:14:37	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7732		(1,677,320.00) Client	Sell
11:14:37	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7732		1,677,320.00 Client	Buy
11:15:32	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7651		(1,676,510.00) Member	Sell
11:15:32	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7651		1,676,510.00 Client	Buy
11:17:29	\$ / R 05/04/2016	Any day expiry	С	16.79	1	1,000	2,980	2,980,000	655.4900		1,953,360,200.00 Client	Buy
11:17:29	\$ / R 05/04/2016	Any day expiry	С	16.79	1	1,000	1,740	1,740,000	655.4900		1,140,552,600.00 Client	Buy
11:17:30	\$ / R 05/04/2016	Any day expiry	С	16.79	1	1,000	280	280,000	655.4900		183,537,200.00 Client	Buy
11:23:52	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7800		(167,800.00) Client	Sell
11:23:52	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.7800		167,800.00 Client	Buy
11:30:39	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	16.7953		(33,590.60) Member	Sell
11:31:00	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	- 1	1,000	16.7953		(16,795.30) Member	Sell
11:31:00	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	16.7953		50,385.90 Client	Buy
11:33:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.7865		16,786,500.00 Client	Buy
11:33:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.7865		(16,786,500.00) Member	Sell
11:33:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	35	35,000	16.8834		590,919.00 Client	Buy
11:33:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.7900		(83,950.00) Client	Sell
11:37:49	\$ / R 14/03/2016			0.00	1	1,000	20	20,000	16.7765		335,530.00 Client	
		Foreign Exchange Future			1		20					Buy
11:37:49	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000		20,000	16.7765		(335,530.00) Client	Sell
11:46:39	\$ / R 13/06/2016 \$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0663		(6,826,520.00) Member	Sell
11:46:39		Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0663		6,826,520.00 Member	Buy
11:46:39	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	17.0663		(1,706,630.00) Member	Sell
11:46:39	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	17.0663		1,706,630.00 Member	Buy
12:07:29	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7900		(1,679,000.00) Client	Sell
12:07:29	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7900		1,679,000.00 Client	Buy
12:09:13	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	12,000	12,000,000	17.0342		204,410,400.00 Member	Buy
12:14:56	\$ / R 14/03/2016	Foreign Exchange Future	-	0.00	1	1,000	3,000	3,000,000	16.7262		(50,178,600.00) Member	Sell
12:14:56	\$ / R 07/04/2016	Any day expiry	С	16.23	1	1,000	5,000	5,000,000	932.1000		4,660,500,000.00 Member	Buy
12:26:12	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0900		(6,836,000.00) Client	Sell
12:26:12	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	17.0900		6,836,000.00 Member	Buy
12:31:09	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8072		(336,144.00) Client	Sell
12:31:09	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8072		336,144.00 Member	Buy
12:32:32	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.8157		(84,078.50) Member	Sell

2016/01/15, 06:10:43PM

Matched Time	Contract Details	Product	Call/ Strike Put	e No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
				inadoo	Falao		Homman	11100	ituto	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
12:32:32	\$ / R 14/03/2016	Foreign Exchange Future	C).00 1	1,000	5	5,000	16.8157		84,078.50 Client	Buy
12:44:38	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	3	3,000	16.8400		(50,520.00) Client	Sell
12:44:38	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	3	3,000	16.8400		50,520.00 Member	Buy
12:47:07	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	97	97,000	16.8400		1,633,480.00 Member	Buy
12:47:07	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	97	97,000	16.8400		(1,633,480.00) Member	Sell
12:54:18	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	1	1,000	16.8300		16,830.00 Client	Buy
13:00:36	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	200	200,000	16.8338		(3,366,760.00) Member	Sell
13:00:36	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	200	200,000	16.8338		3,366,760.00 Client	Buy
13:04:52	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	49	49,000	16.8300		824,670.00 Client	Buy
13:04:52	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	49	49,000	16.8300		(824,670.00) Member	Sell
13:06:10	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	100	100,000	16.8200		1,682,000.00 Member	Buy
13:06:10	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	100	100,000	16.8200		(1,682,000.00) Client	Sell
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	143	143,000	17.8060		(2,546,258.00) Member	Sell
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	841	841,000	17.8060		(14,974,846.00) Member	Sell
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	143	143,000	17.8060		2,546,258.00 Client	Buy
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	486	486,000	17.8060		8,653,716.00 Client	Buy
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	841	841,000	17.8060		14,974,846.00 Client	Buy
3:23:57	\$ / R 19/12/2016	Foreign Exchange Future	C	0.00 1	1,000	486	486,000	17.8060		(8,653,716.00) Member	Sell
3:25:10	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	20	20,000	16.8246		336,492.00 Member	Buy
3:27:48	\$ / R 14/03/2016	Foreign Exchange Future	C).00 1	1,000	10	10,000	16.8246		(168,246.00) Client	Sell
3:27:48	\$ / R 14/03/2016	Foreign Exchange Future	C).00 1	1,000	10	10,000	16.8246		(168,246.00) Client	Sell
3:34:47	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	100	100,000	16.8130		1,681,300.00 Member	Buy
3:34:47	\$ / R 14/03/2016	Foreign Exchange Future	C	0.00 1	1,000	100	100,000	16.8130		(1,681,300.00) Client	Sell
3:39:16	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	5	5,000	16.8400		(84,200.00) Client	Sell
3:39:16	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	5	5,000	16.8400		84,200.00 Client	Buy
3:44:44	\$ / R 15/04/2016	Any day expiry		0.00 1	1,000	10	10,000	16.9588		169,588.00 Member	Buy
3:50:46	\$ / R 15/04/2016	Any day expiry		0.00 1	1,000	10	10,000	16.9588		169,588.00 Client	Buy
3:50:46	\$ / R 15/04/2016	Any day expiry		0.00 1	1,000	10	10,000	16.9588		(169,588.00) Member	Sell
3:53:18	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	200	200,000	16.8584		(3,371,680.00) Member	Sell
3:53:18	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	200	200,000	16.8584		3,371,680.00 Client	Buy
3:53:31	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	10	10,000	16.8065		(168,065.00) Client	Sell
3:53:31	\$ / R 14/03/2016	Foreign Exchange Future		0.00 1	1,000	10	10,000	16.8065		168,065.00 Member	Buy
3:59:20	\$ / R 13/06/2016	Foreign Exchange Future		0.00 1	1,000	400	400,000	17.1378		6,855,120.00 Member	Buy
3:59:20	\$ / R 13/06/2016	Foreign Exchange Future		0.00 1	1,000	400	400,000	17.1378		(6,855,120.00) Member	Sell
4:00:06	\$ / R 14/03/2016	Foreign Exchange Future	_).00 1	1,000	10	10,000	16.8273		(168,273.00) Client	Sell
4:00:06	\$ / R 14/03/2016	Foreign Exchange Future).00 1	1,000	10	10,000	16.8273		168,273.00 Member	Buy
4:00:49	\$ / R 14/03/2016	Foreign Exchange Future).00 1	1,000	19	19,000	16.8308		(319,785.20) Client	Sell
4:00:49	\$ / R 14/03/2016	Foreign Exchange Future).00 1	1,000	19	19,000	16.8308		319,785.20 Member	Buy
4:08:05	\$ / R 14/03/2016	Foreign Exchange Future).00 1	1,000	10	10,000	16.8310		(168,310.00) Client	Sell
4:08:05	\$ / R 14/03/2016	Foreign Exchange Future).00 1	1,000	10	10,000	16.8310		168,310.00 Member	Buy
4:11:45	\$ / R 19/02/2016	Any day expiry		3.00 1 3.93 1	1,000	3,600	3,600,000	2,895.4200		(10,423,512,000.00) Member	Sell
4:11:45	\$ / R 19/02/2016	Any day expiry		3.93 1 3.93 1	1,000	3,600	3,600,000	2,895.4200		10,423,512,000.00) Member 10,423,512,000.00 Client	Buy
.	ψ/ΙΧ Ιδ/02/2010	Foreign Exchange Future).00 1	1,000	50	50,000	2,895.4200		840,000.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,	
14:16:05	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	16.8000		(840,000.00) Client	Sell
14:16:26	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	2,716	2,716,000	17.0342		(46,264,887.20) Client	Sell
14:16:26	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	4,017	4,017,000	17.0342		(68,426,381.40) Client	Sell
14:16:26	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	4,017	4,017,000	17.0342		(68,426,381.40) Client	Sell
14:16:26	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	189	189,000	17.0342		(3,219,463.80) Client	Sell
14:16:26	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	1,061	1,061,000	17.0342		(18,073,286.20) Client	Sell
14:34:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	16.8565		67,426.00 Member	Buy
14:34:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	16.8565		(67,426.00) Client	Sell
14:34:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	6	6,000	16.8548		101,128.80 Member	Buy
14:34:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	6	6,000	16.8548		(101,128.80) Client	Sell
14:37:00	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8739		337,478.00 Client	Buy
14:37:00	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8739		(337,478.00) Member	Sell
14:40:32	\$ / R 07/04/2016	Any day expiry	С	16.23	1	1,000	1,740	1,740,000	927.1000		(1,613,154,000.00) Client	Sell
14:40:32	\$ / R 07/04/2016	Any day expiry	С	16.23	1	1,000	280	280,000	927.1000		(259,588,000.00) Client	Sell
14:40:32	\$ / R 07/04/2016	Any day expiry	С	16.23	1	1,000	2,980	2,980,000	927.1000		(2,762,758,000.00) Client	Sell
14:43:18	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	17.1520		137,216.00 Client	Buy
14:43:18	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	17.1520		(137,216.00) Member	Sell
15:00:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8325		1,683,250.00 Member	Buy
15:00:48	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8325		(1,683,250.00) Client	Sell
15:11:05	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8466		8,423,300.00 Member	Buy
15:11:33	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	17.4862		349,724.00 Member	Buy
15:11:33	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	17.4862		(349,724.00) Client	Sell
15:12:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	16.7466		837,330.00 Member	Buy
15:12:36	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8366		(8,418,300.00) Client	Sell
15:13:08	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8800		(337,600.00) Client	Sell
15:13:08	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8800		337,600.00 Client	Buy
15:14:13	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.8819		506,457.00 Client	Buy
15:14:13	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.8819		(506,457.00) Member	Sell
15:19:33	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8650		(1,686,500.00) Client	Sell
15:19:33	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8650		1,686,500.00 Member	Buy
15:19:57	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8612		8,430,600.00 Member	Buy
15:20:45	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	16.7612		838,060.00 Member	Buy
15:20:45	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8512		(8,425,600.00) Client	Sell
15:22:09	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8621		337,242.00 Client	Buy
15:22:09	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8621		(337,242.00) Member	Sell
15:27:24	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	6	6,000	16.8601		101,160.60 Client	Buy
15:27:24	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	6	6,000	16.8601		(101,160.60) Member	Sell
15:31:52	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8414		8,420,700.00 Member	Buy
15:32:31	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.8512		8,425,600.00 Member	Buy
15:33:07	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8416		(1,684,160.00) Client	Sell
15:33:07	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.8416		1,684,160.00 Member	Buy
15:34:02	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.7463		1,674,630.00 Member	Buy
10.04.02	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	16.8363		(16,836,300.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	nuuco	Value		Nonina	11100	Nute	1360	
15:37:21	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8176		8,408,800.00 Member	Buy
15:38:17	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	16.8175		672,700.00 Member	Buy
15:38:17	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	16.8175		(672,700.00) Client	Sell
5:38:25	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	460	460,000	16.8175		7,736,050.00 Member	Buy
5:38:25	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	460	460,000	16.8175		(7,736,050.00) Member	Sell
5:42:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8158		8,407,900.00 Member	Buy
5:43:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	16.7158		835,790.00 Member	Buy
5:43:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8058		(8,402,900.00) Client	Sell
5:43:32	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8126		(8,406,300.00) Client	Sell
5:43:32	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	16.7676		838,380.00 Member	Buy
5:44:56	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8411		8,420,550.00 Member	Buy
5:45:14	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8311		(8,415,550.00) Client	Sell
5:45:14	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8311		8,415,550.00 Member	Buy
5:45:34	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8511		8,425,550.00 Member	Buy
5:45:47	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8512		8,425,600.00 Member	Buy
5:46:44	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8441		8,422,050.00 Member	Buy
5:47:18	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	55	55,000	16.8451		926,480.50 Member	Buy
5:49:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.8991		84,495.50 Member	Buy
5:49:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.8999		(84,499.50) Client	Sell
5:49:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.8999		(84,499.50) Client	Sell
5:49:04	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.2049		172,049.00 Member	Buy
5:50:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.9049		8,452,450.00 Member	Buy
5:51:46	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	16.9300		338,600.00 Member	Buy
5:51:46	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	16.9300		(338,600.00) Client	Sell
5:51:51	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	400	400,000	17.2527		(6,901,080.00) Member	Sell
5:51:51	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	400	400,000	17.2527		6,901,080.00 Member	Buy
5:52:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.9499		(84,749.50) Client	Sell
5:52:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.9499		84,749.50 Member	Buy
5:52:01	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8949		(8,447,450.00) Client	Sell
5:52:01	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	16.8049		840,245.00 Member	Buy
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	470	470,000	16.9443		(7,963,821.00) Member	Sell
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	470	470,000	16.9443		7,963,821.00 Member	Buy
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	16.9443		(508,329.00) Member	Sell
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	16.9443		508,329.00 Member	Buy
5:52:07	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.2489		8,624,450.00 Member	Buy
5:52:07	\$ / R 13/06/2016	Foreign Exchange Future	0.00		1,000	500	500,000	17.2489		(8,624,450.00) Member	Sell
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00		1,000	100	100,000	16.9560		1,695,600.00 Member	Buy
5:52:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00		1,000	100	100,000	16.9560		(1,695,600.00) Client	Sell
5:54:17	\$ / R 13/06/2016	Foreign Exchange Future	0.00		1,000	400	400,000	17.2366		6,894,640.00 Member	Buy
5:54:17	\$ / R 13/06/2016	Foreign Exchange Future	0.00		1,000	400	400,000	17.2366		(6,894,640.00) Member	Sell
5:54:27	\$ / R 14/03/2016	Foreign Exchange Future	0.00		1,000	10	10,000	16.9200		169,200.00 Client	Buy
5:54:27	\$ / R 14/03/2016	Foreign Exchange Future	0.00		1,000	10	10,000	16.9200		(169,200.00) Client	Sell
5:58:29	\$ / R 14/03/2016	Foreign Exchange Future	0.00		1,000	1	1,000	16.8815		16,881.50 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	naues	Value		Nominal	FIICE	IVale	iype	Jeil
15:59:27	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.1893		(85,946.50) Member	Sell
15:59:27	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.1893		85,946.50 Client	Buy
15:59:34	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.8730		(84,365.00) Client	Sell
15:59:34	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.8730		84,365.00 Member	Buy
15:59:43	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	16.8879		844,395.00 Member	Buy
15:59:43	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	16.8879		(844,395.00) Client	Sell
15:59:57	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8921		(8,446,050.00) Member	Sell
15:59:59	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.8935		(8,446,750.00) Member	Sell
16:01:29	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9428		(1,694,280.00) Member	Sell
16:01:29	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	16.8978		16,897,800.00 Client	Buy
16:02:37	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	16.9350		(2,540,250.00) Member	Sell
16:02:37	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	16.9350		2,540,250.00 Client	Buy
16:03:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.9000		84,500.00 Member	Buy
16:03:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	16.9000		(84,500.00) Client	Sell
6:07:08	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	16.8955		(16,895,500.00) Client	Sell
6:07:08	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	16.8955		16,895,500.00 Member	Buy
6:08:06	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.8749		16,874.90 Member	Buy
6:08:29	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,555	1,555,000	16.8415		26,188,532.50 Member	Buy
6:08:33	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.8722		1,687,220.00 Member	Buy
6:09:08	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.8665		3,373,300.00 Member	Buy
6:09:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.8573		3,371,460.00 Member	Buy
6:09:42	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.8589		3,371,780.00 Member	Buy
6:10:05	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	160	160,000	16.8745		2,699,920.00 Member	Buy
6:10:05	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	240	240,000	16.8733		4,049,592.00 Member	Buy
6:10:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	260	260,000	16.8804		4,388,904.00 Member	Buy
6:10:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	140	140,000	16.8789		2,363,046.00 Member	Buy
6:10:50	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.8868		3,377,360.00 Member	Buy
6:11:12	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	99	99,000	16.8891		1,672,020.90 Member	Buy
6:11:12	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	16.8900		(168,900.00) Client	Sell
6:11:12	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	16.8900		168,900.00 Client	Buy
6:11:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	141	141,000	16.8961		2,382,350.10 Member	Buy
6:11:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	59	59,000	16.8940		996,746.00 Client	Buy
6:11:31	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	16.8752		(33,750,400.00) Client	Sell
6:12:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	371	371,000	16.8415		(6,248,196.50) Client	Sell
6:12:00	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,184	1,184,000	16.8415		(19,940,336.00) Client	Sell
6:20:15	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	16.9100		253,650.00 Client	Buy
6:20:15	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	16.9100		(253,650.00) Client	Sell
6:20:46	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	16.9125		(338,250.00) Client	Sell
6:20:46	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	16.9125		338,250.00 Member	Buy
6:21:28	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	90	90,000	16.9200		1,522,800.00 Member	Buy
6:21:28	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	90	90,000	16.9200		(1,522,800.00) Client	Sell
6:26:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	16.9250		(253,875.00) Client	Sell
16:26:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	16.9250		253,875.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:26:17	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	85	85,000	16.9273		(1,438,820.50) Member	Sell
16:26:17	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	85	85,000	16.9273		1,438,820.50 Client	Buy
16:35:24	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.9217		(507,651.00) Client	Sell
16:35:37	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.9217		507,651.00 Client	Buy
16:35:40	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.9019		1,690,190.00 Member	Buy
16:35:40	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	16.9019		(1,690,190.00) Client	Sell
16:36:46	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	35	35,000	16.9123		(591,930.50) Member	Sell
16:42:30	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9126		84,563.00 Client	Buy
16:42:30	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9126		(84,563.00) Member	Sell
16:46:08	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.9123		507,369.00 Member	Buy
16:47:45	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9123		(84,561.50) Member	Sell
16:47:45	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9123		84,561.50 Client	Buy
16:55:11	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	16.8568		421,420.00 Member	Buy
16:55:11	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	16.8568		(421,420.00) Client	Sell
17:00:56	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	16.8999		168,999.00 Client	Buy
17:01:54	\$ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	17.2049		(172,049.00) Client	Sell
17:04:57	\$ / R 14/03/2016	Foreign Exchange Future	С	16.55	1	1,000	10,000	10,000,000	764.9100		(7,649,100,000.00) Member	Sell
7:04:57	\$ / R 14/03/2016	Foreign Exchange Future	Р	15.45	1	1,000	15,000	15,000,000	79.6700		1,195,050,000.00 Member	Buy
7:04:57	\$ / R 14/03/2016	Foreign Exchange Future	С	18.24	1	1,000	12,500	12,500,000	195.4000		2,442,500,000.00 Member	Buy
7:04:57	\$ / R 14/03/2016	Foreign Exchange Future	С	17.41	1	1,000	20,000	20,000,000	392.9200		7,858,400,000.00 Member	Buy
7:04:57	\$ / R 14/03/2016	Foreign Exchange Future	Р	16.45	1	1,000	10,000	10,000,000	363.7400		(3,637,400,000.00) Member	Sell
7:17:25	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.9370		(8,468,500.00) Member	Sell
7:18:55	\$ / R 14/03/2016	Foreign Exchange Future	С	16.55	1	1,000	10,000	10,000,000	766.9100		(7,669,100,000.00) Member	Sell
17:18:55	\$ / R 14/03/2016	Foreign Exchange Future	С	16.55	1	1,000	10,000	10,000,000	766.9100		7,669,100,000.00 Client	Buy
17:19:14	\$ / R 14/03/2016	Foreign Exchange Future	С	17.41	1	1,000	20,000	20,000,000	390.9200		7,818,400,000.00 Member	Buy
7:19:14	\$ / R 14/03/2016	Foreign Exchange Future	С	17.41	1	1,000	20,000	20,000,000	390.9200		(7,818,400,000.00) Client	Sell
7:34:18	\$ / R 14/03/2016	Foreign Exchange Future	P	15.45	1	1,000	4,500	4,500,000	77.6700		(349,515,000.00) Client	Sell
7:34:43	\$ / R 14/03/2016	Foreign Exchange Future	P	15.45	1	1,000	7,500	7,500,000	77.6700		582,525,000.00 Member	Buy
17:34:43	\$ / R 14/03/2016	Foreign Exchange Future	P	15.45	1	1,000	7,500	7,500,000	77.6700		(582,525,000.00) Client	Sell
7:35:04	\$ / R 14/03/2016	Foreign Exchange Future	P	15.45	1	1,000	3,000	3,000,000	77.6700		(233,010,000.00) Client	Sell
7:35:56	\$ / R 14/03/2016	Foreign Exchange Future	P	16.45	1	1,000	3,000	3,000,000	365.7400		1,097,220,000.00 Client	Buy
7:36:18	\$ / R 14/03/2016	Foreign Exchange Future	P	16.45	1	1,000	5,000	5,000,000	365.7400		(1,828,700,000.00) Member	Sell
7:36:18	\$ / R 14/03/2016	Foreign Exchange Future	P	16.45	1	1,000	5,000	5,000,000	365.7400		1,828,700,000.00 Client	Buy
7:36:43	\$ / R 14/03/2016	Foreign Exchange Future	P	16.45	1	1,000	2,000	2,000,000	365.7400		731,480,000.00 Client	Buy
7:37:14	\$ / R 14/03/2016	Foreign Exchange Future	c	18.24	1	1,000	3,750	3,750,000	193.4000		(725,250,000.00) Client	Sell
7:37:30	\$ / R 14/03/2016	Foreign Exchange Future	c	18.24	1	1,000	6,250	6,250,000	193.4000		1,208,750,000.00 Member	Buy
7:37:30	\$ / R 14/03/2016	Foreign Exchange Future	C	18.24	1	1,000	6,250	6,250,000	193.4000		(1,208,750,000.00) Client	Sell
17:37:48	\$ / R 14/03/2016	Foreign Exchange Future	C	18.24	1	1,000	2,500	2,500,000	193.4000		(483,500,000.00) Client	Sell
17:55:44	\$ / R 14/03/2016	Foreign Exchange Future	Ŭ	0.00	1	1,000	50	50,000	17.0370		(403,300,000.00) Ollent (851,850.00) Member	Sell
7:55:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	16.9470		8,473,500.00 Client	Buy
8:01:42	\$ / R 15/01/2016	Any day expiry		0.00	1	1,000	10,000	10,000,000	16.7198		(167,198,000.00) Member	Sell
0.01.42	\$ / R 15/01/2016	Any day expiry		0.00	1	1,000	10,000	10,000,000	16.7198		167,198,000.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	res			143		60,710	60,709,500			1026151804.05	
Total Opti	ons			16		107,975	107,975,000			0.00	
Total for \$	/ R Any day expiry			159		168,685	168,684,500			53,335,026,304.05	
10:17:19	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.0156		(8,507,800.00) Member	Sell
10:17:19	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.0156		8,507,800.00 Member	Buy
0:17:19	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.3417		8,670,850.00 Member	Buy
0:17:19	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.3417		(8,670,850.00) Member	Sell
3:59:20	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	16.8425		8,421,250.00 Member	Buy
3:59:20	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	16.8425		(8,421,250.00) Member	Sell
5:51:46	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	16.9410		(8,470,500.00) Member	Sell
5:51:46	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	16.9410		8,470,500.00 Member	Buy
5:51:47	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.2400		8,620,000.00 Member	Buy
5:51:47	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.0) 1	100,000	5	500,000	17.2400		(8,620,000.00) Member	Sell
otal Futu	res			5		25	2,500,000			42690400.00	
otal Opti	ons										
otal for \$	al for \$ / R MAXI Foreign Exchange Future			5		25	2,500,000			42,690,400.00	
9:00:03	£/R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	540	540,000	24.0953		13,011,462.00 Member	Buy
0:17:19	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	200	200,000	24.4925		4,898,500.00 Member	Buy
0:17:19	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	200	200,000	24.4925		(4,898,500.00) Member	Sell
0:17:19	£ / R 19/09/2016	Foreign Exchange Future	0.0) 1	1,000	150	150,000	24.9803		(3,747,045.00) Member	Sell
0:17:19	£ / R 19/09/2016	Foreign Exchange Future	0.0) 1	1,000	150	150,000	24.9803		3,747,045.00 Member	Buy
0:28:08	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	250	250,000	24.5360		6,134,000.00 Member	Buy
0:28:08	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	250	250,000	24.5360		(6,134,000.00) Member	Sell
0:29:42	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	1	1,000	24.5444		(24,544.40) Member	Sell
0:29:42	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	1	1,000	24.5444		24,544.40 Client	Buy
0:31:51	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	150	150,000	24.1285		3,619,275.00 Member	Buy
0:31:51	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	150	150,000	24.1285		(3,619,275.00) Member	Sell
0:34:12	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	1	1,000	24.1200		24,120.00 Member	Buy
1:30:06	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	2	2,000	24.1162		(48,232.40) Member	Sell
1:31:11	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	1	1,000	24.1211		(24,121.10) Member	Sell
1:31:11	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	3	3,000	24.1178		72,353.40 Client	Buy
3:20:31	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	1	1,000	24.1500		24,150.00 Member	Buy
3:55:21	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	540	540,000	24.0953		(13,011,462.00) Client	Sell
5:30:15	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	350	350,000	24.1376		(8,448,160.00) Member	Sell
5:30:15	£ / R 14/03/2016	Foreign Exchange Future	0.0) 1	1,000	350	350,000	24.1376		8,448,160.00 Member	Buy
	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	101	101,000	24.6256		(2,487,185.60) Member	Sell
5:31:42		· -									
	£ / R 13/06/2016	Foreign Exchange Future	0.0) 1	1,000	101	101,000	24.6256		2,487,185.60 Member	Buy
5:31:42 5:31:42 5:32:50	£ / R 13/06/2016 £ / R 14/03/2016	Foreign Exchange Future Foreign Exchange Future	0.00		1,000 1,000	101	150,000	24.6256 24.1649		2,487,185.60 Member 3,624,735.00 Member	Buy Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:32:50	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	24.1646		(217,481.40) Member	Sell
15:32:50	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	24.1646		217,481.40 Member	Buy
15:49:05	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2499		(121,249.50) Client	Sell
15:49:05	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2499		121,249.50 Member	Buy
15:49:05	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2499		(121,249.50) Client	Sell
15:49:05	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2499		121,249.50 Member	Buy
15:51:46	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	24.2975		(12,148,750.00) Member	Sell
5:51:46	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	24.2975		12,148,750.00 Member	Buy
15:51:47	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2999		(121,499.50) Client	Sell
5:51:47	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	24.2999		121,499.50 Member	Buy
5:52:00	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	24.2976		(12,148,800.00) Member	Sell
5:52:00	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	24.2976		12,148,800.00 Member	Buy
5:53:20	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	24.3120		4,862,400.00 Member	Buy
5:53:20	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	24.3120		(4,862,400.00) Member	Sell
5:58:40	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	24.2169		24,216.90 Member	Buy
15:58:40	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	24.1623		(72,486.90) Client	Sell
	Il Futures			20		3,122	3,122,000			75881177.25	
	l Futures I Options			_•		0,122	0,122,000				
-	£ / R Foreign Exchang	e Future		20		3,122	3,122,000			75,881,177.25	
3:59:07	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	18.2690		4,567,250.00 Client	Buy
3:59:07	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	18.2690		(4,567,250.00) Member	Sell
9:33:40	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	18.0675		1,806,750.00 Client	Buy
9:33:40	€/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	18.0675		(1,806,750.00) Member	Sell
0:17:19	€/R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	18.6023		(4,650,575.00) Member	Sell
0:17:19	€/R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	18.6023		4,650,575.00 Member	Buy
0:17:19	€/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	19.0299		(2,854,485.00) Member	Sell
								10 0000		2,854,485.00 Member	Buy
	€/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	19.0299			
0:17:19	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	19.0201		1,902,010.00 Member	Buy
0:17:19 0:17:19	€ / R 19/09/2016 € / R 19/09/2016	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1	1,000 1,000	100 100	100,000 100,000	19.0201 19.0201		(1,902,010.00) Member	Buy Sell
0:17:19 0:17:19 0:31:05	€ / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016	Foreign Exchange Future	0.00 0.00 0.00	1	1,000	100 100 350	100,000 100,000 350,000	19.0201 19.0201 18.3153			Sell Buy
0:17:19 0:17:19 0:31:05 0:31:05	€ / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 14/03/2016	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1	1,000 1,000 1,000 1,000	100 100 350 350	100,000 100,000 350,000 350,000	19.0201 19.0201 18.3153 18.3153		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member	Sell Buy Sell
0:17:19 0:17:19 0:31:05 0:31:05	€ / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000 1,000	100 100 350 350 150	100,000 100,000 350,000 350,000 150,000	19.0201 19.0201 18.3153 18.3153 18.3152		(1,902,010.00) Member 6,410,355.00 Member	Sell Buy
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 14/03/2016 € / R 14/03/2016 € / R 14/03/2016 	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000 1,000	100 100 350 350	100,000 100,000 350,000 350,000 150,000 150,000	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member	Sell Buy Sell Buy Sell
0:17:19 0:17:19 0:31:05 0:31:25 0:31:21 0:31:21 0:32:50	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 350 150	100,000 100,000 350,000 350,000 150,000 150,000 1,000	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member	Sell Buy Sell Buy
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 13/06/2016 	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	100 100 350 350 150 150 1 3	100,000 100,000 350,000 350,000 150,000 150,000 1,000 3,000	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783 18.6505		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member 55,951.50 Member	Sell Buy Sell Buy Sell
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 350 150 150 150	100,000 100,000 350,000 350,000 150,000 150,000 1,000	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member	Sell Buy Sell Buy Sell Buy
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22 1:05:21	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 13/06/2016 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 350 150 150 1 3	100,000 100,000 350,000 350,000 150,000 150,000 1,000 3,000	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783 18.6505		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member 55,951.50 Member	Sell Buy Sell Buy Sell Buy Buy
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22 1:05:21 1:08:57	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 13/06/2016 € / R 13/06/2016 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 350 150 150 1 3 6,210	$\begin{array}{c} 100,000\\ 100,000\\ 350,000\\ 350,000\\ 150,000\\ 150,000\\ 150,000\\ 3,000\\ 6,210,000\\ \end{array}$	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783 18.6505 18.6085		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member 55,951.50 Member 115,558,785.00 Member	Sell Buy Sell Buy Buy Buy
0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22 1:05:21 1:08:57 1:11:42	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 13/06/2016 € / R 13/06/2016 € / R 13/06/2016 € / R 13/06/2016 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 150 150 1 3 6,210 250	$\begin{array}{c} 100,000\\ 100,000\\ 350,000\\ 350,000\\ 150,000\\ 150,000\\ 1,000\\ 3,000\\ 6,210,000\\ 250,000\\ \end{array}$	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783 18.6505 18.6085 18.6698		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member 55,951.50 Member 115,558,785.00 Member 4,667,450.00 Member	Sell Buy Sell Buy Buy Buy Buy
0:17:19 0:17:19 0:17:19 0:31:05 0:31:05 0:31:21 0:31:21 0:32:50 0:58:22 1:05:21 1:08:57 1:11:42 1:12:05 1:30:00	 € / R 19/09/2016 € / R 19/09/2016 € / R 14/03/2016 € / R 13/06/2016 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 100 350 150 150 1 3 6,210 250 250	$\begin{array}{c} 100,000\\ 100,000\\ 350,000\\ 350,000\\ 150,000\\ 150,000\\ 1,000\\ 3,000\\ 6,210,000\\ 250,000\\ 250,000\\ \end{array}$	19.0201 19.0201 18.3153 18.3153 18.3152 18.3152 18.2783 18.6505 18.6085 18.6698 18.6747		(1,902,010.00) Member 6,410,355.00 Member (6,410,355.00) Member 2,747,280.00 Member (2,747,280.00) Member 18,278.30 Member 55,951.50 Member 115,558,785.00 Member 4,667,450.00 Member	Sell Buy Sell Buy Buy Buy Buy Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade	Buy/ Sell
Time			Pul		Traues	value		Nominai	FIICe	Rale	Туре	Sell
11:31:06	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	18.3400		(18,340.00) Client	Sell
11:31:06	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	18.3400		18,340.00 Client	Buy
11:31:17	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	47	47,000	18.3400		861,980.00 Member	Buy
11:31:17	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	47	47,000	18.3400		(861,980.00) Client	Sell
12:09:01	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	6,722	6,722,000	18.6111		125,103,814.20 Member	Buy
12:29:13	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.3600		(918,000.00) Client	Sell
12:29:13	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.3600		918,000.00 Member	Buy
12:50:44	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	18.3900		18,390.00 Member	Buy
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	445	445,000	19.6322		8,736,329.00 Client	Buy
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	131	131,000	19.6322		(2,571,818.20) Member	Sell
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	131	131,000	19.6322		2,571,818.20 Client	Buy
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	445	445,000	19.6322		(8,736,329.00) Member	Sell
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	770	770,000	19.6322		(15,116,794.00) Member	Sell
13:23:57	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	770	770,000	19.6322		15,116,794.00 Client	Buy
13:40:41	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	1,521	1,521,000	18.6111		(28,307,483.10) Client	Sell
13:40:41	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	2,250	2,250,000	18.6111		(41,874,975.00) Client	Sell
13:40:41	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	106	106,000	18.6111		(1,972,776.60) Client	Sell
3:40:41	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	594	594,000	18.6111		(11,054,993.40) Client	Sell
3:40:41	€ / R 13/06/2016	Foreign Exchange Future		0.00	1	1,000	2,251	2,251,000	18.6111		(41,893,586.10) Client	Sell
4:11:45	€ / R 25/01/2016	Any day expiry	С	14.85	1	1,000	1,000	1,000,000	3,358.4700		(3,358,470,000.00) Member	Sell
4:11:45	€ / R 25/01/2016	Any day expiry	С	14.92	1	1,000	1,000	1,000,000	3,288.4800		(3,288,480,000.00) Member	Sell
4:11:45	€ / R 25/01/2016	Any day expiry	С	14.92	1	1,000	1,000	1,000,000	3,288.4800		3,288,480,000.00 Client	Buy
4:11:45	€ / R 25/01/2016	Any day expiry	С	14.85	1	1,000	1,000	1,000,000	3,358.4700		3,358,470,000.00 Client	Buy
4:33:42	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.4200		921,000.00 Member	Buy
4:33:42	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.4200		(921,000.00) Client	Sell
4:54:02	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	18.3942		(183,942.00) Member	Sell
4:54:02	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	18.3942		183,942.00 Client	Buy
4:55:53	€ / R 24/02/2016	Any day expiry		0.00	1	1,000	100	100,000	18.3166		1,831,660.00 Client	Buy
4:55:53	€ / R 24/02/2016	Any day expiry		0.00	1	1,000	100	100,000	18.3166		(1,831,660.00) Member	Sell
4:56:30	€ / R 22/03/2016	Any day expiry		0.00	1	1,000	293	293,000	18.4221		5,397,675.30 Client	Buy
4:56:30	€ / R 22/03/2016	Any day expiry		0.00	1	1,000	293	293,000	18.4221		(5,397,675.30) Member	Sell
4:57:08	€ / R 26/04/2016	Any day expiry		0.00	1	1,000	25	25,000	18.5721		464,302.50 Client	Buy
4:57:08	€ / R 26/04/2016	Any day expiry		0.00	1	1,000	25	25,000	18.5721		(464,302.50) Member	Sell
4:57:56	€ / R 25/05/2016	Any day expiry		0.00	1	1,000	74	74,000	18.6891		1,382,993.40 Client	Buy
4:57:56	€ / R 25/05/2016	Any day expiry		0.00	1	1,000	74	74,000	18.6891		(1,382,993.40) Member	Sell
5:01:51	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.3950		(919,750.00) Client	Sell
5:01:51	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	18.3950		919,750.00 Member	Buy
5:37:57	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	18.4409		(6,454,315.00) Member	Sell
5:37:57	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	18.4409		6,454,315.00 Member	Buy
5:39:16	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	18.4600		(1,846,000.00) Client	Sell
5:39:16	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	18.4600		1,846,000.00 Member	Buy
5:46:56	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	18.5000		(462,500.00) Client	Sell
15:46:56	€ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	18.5000		462,500.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Rate	Trade Type	Buy/ Sell
15:47:53	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	18.5200	3,704,000.00	Member	Buy
15:52:25	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	18.6303	(558,909.00)	Client	Sell
15:52:25	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	18.6303	558,909.00	Member	Buy
15:58:40	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	18.3969	(55,190.70)	Client	Sell
15:58:40	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	18.5226	18,522.60	Member	Buy
16:08:40	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	18.5000	(3,700,000.00)	Member	Sell
16:08:40	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	18.5000	3,700,000.00	Client	Buy
16:25:04	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	18.5665	556,995.00	Member	Buy
16:25:04	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	18.5665	(556,995.00)	Client	Sell
16:38:46	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	18.5022	(3,700,440.00)	Client	Sell
16:38:46	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	18.5022	3,700,440.00	Member	Buy
16:59:12	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	18.5356	370,712.00	Member	Buy
16:59:12	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	18.5356	(370,712.00)	Client	Sell
Total Futu	ires			37		14,539	14,539,000		271520337.05		
Total Opti	tal Options			2		2,000	2,000,000		0.00		
Total for €	al for € / R Foreign Exchange Future			39		16,539	16,539,000		6,918,470,337.05		
10:17:19	AU\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.6828	(2,920,700.00)	Member	Sell
10:17:19	AU\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.6828	2,920,700.00	Member	Buy
10:28:34	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.5582	(2,889,550.00)	Member	Sell
10:28:34	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.5582	2,889,550.00	Member	Buy
10:29:59	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.8974	11,897.40	Member	Buy
10:29:59	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.8974	(11,897.40)	Member	Sell
15:31:35	AU\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.7266	2,931,650.00	Member	Buy
15:31:35	AU\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.7266	(2,931,650.00)	Member	Sell
15:54:38	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.6065	(2,321,300.00)	Member	Sell
15:54:38	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.6065	2,321,300.00	Member	Buy
15:57:06	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.5919	(579,595.00)	Member	Sell
15:57:06	AU\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.5919	579,595.00	Member	Buy
18:01:42	AU\$ / R 15/01/2016	Any day expiry	0.00	1	1,000	3	3,000	11.5259	34,577.70	Member	Buy
18:01:42	AU\$ / R 15/01/2016	Any day expiry	0.00	1	1,000	3	3,000	11.5259	(34,577.70)	Member	Sell
Total Futu	ires			7		1,004	1,004,000		11689270.10		
Total Opti	ons										
Total for AU\$ / R Any day expiry				7		1,004	1,004,000		11,689,270.10		
Total Futures				212		79,400	81,874,500		1427932988.45		
Total Opti	ons			18		109,975	109,975,000		0.00		
Grand Total for all Instruments											